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A. Bags of Candies
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const LL MAXN=1lell;
const int SqrN=sqrt(MAXN)+5,MAXL=1e7;
namespace Prime

int prime[SqrN!,pcnt;
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bool pvis|SqrN|,vis|MAXL];
void init
_for(i,2,SqrN
lpvis|i
prime/pcnt++|=1;
int j=0;j<pcnt&&primelj | *i<SqrN; j++
pvis| prime|j|*i|=true;
i%sprimelj ==

’

int count(LL L,LL R
int len=R-L+1,cnt=0;
_for(i,0,len)vis|i|=Ffalse;

==1)vis =true;
_for(i,0,pcnt
LL
j=1lLL*max( (LL)prime[i], (L+prime|i|-1)/prime[i])*prime|i];j<=R;j+=primeli

vis|j-L|=true;

_for(1i,0,len
cnt+=!vis|[i];
cnt;

const int MAXB=1le4+5;
char buf[]="";/0000
LL a/MAXB];
void decode
int n=strlen(buf);
int i=0;i<n;i+=
int s=0;
_for(j,i,i+
s*=62;
buf[jl>="0"&&buf[j<='9"
s+=buf/j|-'0";
buf|[jl>="a'&&buf|[jl<="'2"
s+=buf/j|-"'a'+10;

s+=buf[j]-"'A"'+36;
ali/4+1]=s;
LL calc(LL n
n::

LL b=(n-1)/MAXL;
albl+Prime: :count (b*MAXL+1,n

’
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void solve
LL n=read LL();
enter(n-(n-calc(n)+calc(n/2)-1)/2);

int main

decode( );

Prime::init();

_for(i,1,MAXB

alil+=ali-1];

int T=read int();
T--

solvel( );

E. Contamination
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const int MAXN=1e6+5,MAXQ=1e6+5,inf=2e9+5;
int lef[MAXN<<2],rig/MAXN<<2|,s[MAXN<<2];
multiset<int> num[MAXN<<2];
void build(int k,int L,int R
lef[kl=L,rig/k!=R,s[k]=-inf;
L==R

int M=L+R>>1;
build(k<<1,L,M);
build(k<<1|1,M+1,R);
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void update(int k,int pos,int v,bool add
lef[kl==rig|k
add
num(K]|.insert(v);
s[kl=*num[k].rbegin();

num/k!.erase(num[k].find(v));
num[ k| .empty
s kl=-inf;

s k]=*num[k].rbegin();

int mid=lef|k|+rig/ k!>>1;
mid>=pos
update(k<<l,pos,v,add) ;

update(k<<1l|1,pos,v,add);
sl kl=max(s/k<<l],s[k<<l| ;

int query(int k,int L,int R
L<=lef | k|&&rig/k|<=R
slkl;
int mid=lef|k|+rig/ k!>>1;
mid>=R
query (k<<1,L,R);
mid<L
query(k<<1|1,L,R);

max (query(k<<1,L,R),query(k<<1|1,L,R));
struct Node

int type,y,my;
int idx,vl,v2;

Node(int type=0,int y=0,int my=0,int idx=0,int x1=0,int xr=

this->type=type;
this->y=y;
this->my=my;
this->idx=1idx;
v1l=x1;

V2=Xr;

bool operator < (const Node &b)const
yl=b.y
y<b.y;

type<b.type;
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node [ MAXN*2+MAXQ] ;
bool ans[MAXQ];
vector<int> mp;
int main
int n=read int(),q=read int(),m=0;
_for(i,0,n
int cx=read int(),cy=read int(),r=read int();
node|m++|=Node(0,cy-r,cy+r,cx) ;
node | m++|=Node (2, cy+r,cy+r,cx);
mp.push back(cx);
_for(i,0,q
int
px=read _int(),py=read int(),qx=read int(),qy=read int(),ymin=read int(),yma

x=read int();
node [ m++|=Node(1,ymin,ymax,i,min(px,qx),max(px,qx));

sort(mp.begin(),mp.end ;

mp.erase(unique(mp.begin(),mp.end ,mp.end ;
build(1,1,mp.size ;
sort(node,node+m) ;
_for(i,0,m
Node opt=node|i];
opt.type==0]||opt.type==

int p=lower bound(mp.begin(),mp.end(),opt.idx)-mp.begin

update(1l,p,opt.my,opt.type==0);

int pl=lower bound(mp.begin(),mp.end(),opt.vl)-mp.begin
int p2=upper bound(mp.begin(),mp.end(),opt.v2)-mp.begin

pl>p2
ans | opt.idx|=true;

ans|opt.idx|=(query(1l,pl,p2)<opt.my);
_for(i,0,q
ans|i

puts("YES");

puts("NO");
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